Name: Date:

Teacher: Class:

Subtraction 604

Who takes longer to get ready for a trip--an elephant or a rooster?
The elephant--it has to pack a big trunk, while the rooster
takes only a comb.

Subtract these numbers to find the total.

= 1,762,085 % 4,033,4823 220,943 4 46,140 > 2,142,692
— 1,513,650 — 2,302,595 — 56,738 — 20,170 — 509,709

6 396,960 "~ 371,410 & 6,063,387 ° 145912 10 7,954,177
— 12,830 — 22,642 — 634,222 — 98,483 — 959,896

11 747,133 2> 7,078,339 13 1,884,872 * 622,458 1> 383,983
— 242,448 — 734,802 — 496,732 — 144,616 — 298,230

6. 8,338,866 7 534,450 18 923,392 19 1,635,216 2% 5,805,567
— 878,083 — 226,417 — (51,214 — 209,060 — 33,567

21 2,142,692 2> 396,960 2> 371,410 2* 6,063,387 2> 145912
— 509,709 — 12,830 — 22,642 — 634,222 — 98,483

6. 7,954,177 27 747,133 2% 7,078,339 2% 1,884,872 3 622,458
— 959,896 — 242,448 — 734,802 — 496,732 — 144,616

31 383,983 32 8,338,866 3% 534,450 34 923,392 35> 1,635,216
— 298,230 — 878,083 — 226,417 — 751,214 — 209,060

3%. 5805567 3 2,142,692 38 396,960 3% 371,410 4% 6,063,387
— 33,567 — 509,709 — 12,830 — 22,642 — 634,222

4l 145912 42 7,954,177 43 747,133 4 7,078,339 4> 1,884,872
— 98,483 — 959,896 — 242,448 — 734,802 — 496,732

46. 622,458 47 383,983 48 8,338,866 4% 534,450 °0 923,392
— 144,616 — 298,230 — 878,083 — 226,417 — 751,214
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Answer Key Date:

Teacher: Class:

Subtraction 604

Who takes longer to get ready for a trip--an elephant or a rooster?
The elephant--it has to pack a big trunk, while the rooster
takes only a comb.

Subtract these numbers to find the total.

= 1,762,085 % 4,033,4823 220,943 4 46,140 > 2,142,692

— 1,513,650 — 2,302,595 — 56,738 — 20,170 — 509,709
248,435 1,730,887 164,205 25,970 1,632,983

6 396,960 "~ 371,410 & 6,063,387 ° 145912 10 7,954,177
— 12,830 — 22,642 — 634,222 — 98,483 — 959,896
384,130 348,768 5,429,165 47,429 6,994,281

11 747,133 2> 7,078,339 13 1,884,872 * 622,458 1> 383,983
— 242,448 — 734,802 — 496,732 — 144,616 — 298,230
504,685 6,343,537 1,388,140 477,842 85,753

6. 8,338,866 7 534,450 18 923,392 19 1,635,216 2% 5,805,567
— 878,083 — 226,417 — 751,214 — 209,060 — 33,567
7,460,783 308,033 172,178 1,426,156 5,772,000
212,142,692 2> 396,960 2% 371,410 %% 6,063,387 2> 145912
— 509,709 — 12,830 — 22,642 — 634,222 — 98,483
1,632,983 384,130 348,768 5,429,165 47,429

6. 7,954,177 27 747,133 2% 7,078,339 2% 1,884,872 3 622,458
— 959,896 — 242,448 — 734,802 — 496,732 — 144,616
6,994,281 504,685 6,343,537 1,388,140 477,842

31 383,983 32 8,338,866 3% 534,450 34 923,392 3 1,635,216
— 298,230 — 878,083 — 226,417 — 751,214 — 209,060
85,753 7,460,783 308,033 172,178 1,426,156

3. 5805567 8- 2,142,692 38 396,960 3 371,410 40 6,063,387
— 33,567 — 509,709 — 12,830 — 22,642 — 634,222
5,772,000 1,632,983 384,130 348,768 5,429,165

4l 145912 42 7,954,177 43 747,133 4 7,078,339 4> 1,884,872
— 98,483 — 959,896 — 242,448 — 734,802 — 496,732
47,429 6,994,281 504,685 6,343,537 1,388,140

46. 622,458 47 383,983 48 8,338,866 4% 534,450 °0 923,392
— 144,616 — 298,230 — 878,083 — 226,417 — 751,214
477,842 85,753 7,460,783 308,033 172,178
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